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A firm purchased a leasehold property on

1 June, 1991 at ¥ 1,00,000 and decided to

replace it by creating a depreciation fund. The
rate of interest if 5% per annum. Calculate
the annual amount to' be invested.
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In an examination 60% students passed
in book-keeping and 50% in Mathematics
and 25% failed in both the examinations.
If 140 students passed in both the
examinations, then find the total number
of students appeared in the examination.

149 JDB * (8) (Turn Over)
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Vogel’s approximation method
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